‘Classification” means arrangement Uf gioen ilems. on ;
:ﬁwﬂd#.&rfmust.;ngrmqucﬂ'fﬂmfmﬁﬂﬂﬂ"" ,out of which some are simlar to

some manner and one is different from the rest, The candidate is required to choose 1
one itein which does not fit into the gwen grovp:
—{‘E‘J Small

1. (A) Baty (B) Erake
(C) Swan (D) Crocodile » ‘Jackal' Is related t
(E) Frog game way as Cn:r I‘u"::.:: l;“ the
2. (A) Cep (B) Turban A. Laws B. Hoot
(C) Helmet (D) Vell¥ C. Coo D. Moo~
(E} Hal Elxpl'lnlltlun As the sound of 'Jackaf |
3 (A) K (B) Snakev . gw ainlagi e Scind of Sow s Mo,
(C) Emu (D) Ostrich 11, (A) Physics (B) Chemistry
(E) Eagle (C) Geographyv(D) Botany
4. (A) Book (B) Pen (B} Zoviogy
c) P
,{[EJJ Szan:r (D) Busv 12, ig} Football  (B) Volleyball
(C) Cricket (D) Chessv
5, E;; E‘turd (B) Butter (E) Hockey
aterv’ 13.
= s o o
{. ) D
fox 6. {@ (A) Potassiumv (B) Silicon (E) Flower ) Aan
W & m (D) Gali 14. (A
TR F
3 % mm B Croions 5 EE; gahra (D) Rhinoceros
i {D} Cardamom ' oland
m Chalkr ;IEJ Spain Eg}} ﬁar;““
r  (B) Platform ¥ Ko
18. (A) Tailo -
{D) Parkv Tallor (B
. (C) Plag ) Carpenter
E) E "iﬁltﬂlﬂﬂi (D) Barber”
- Kael . (C) So o Eg} Potassium
(B) Huge - (E) Enﬂfm ) Chiorine
' (B) Moss

(B) Sharpv »

1[9} Fung

11,:‘.-._[72 i _':

T i s F -
; e Vorbal LW, ¥



Dogar's Unique 1.Q., Tests with Hinfs & Explanalory Answars

\ 16. (A)

21.

22,

23.

24,

25,

20,

(C)
(E)
(A)
(<)
(E)
(A)
(C)
(E)
(A)
(C)
(A)
(C)
(E)
(A)
(C)
(E)
(A)
()
(E)
(A)
(©)
(E)

(A)
(c)
{E)

Tomato
Radish
Cabbage

Madagascar (B)

(B)
(D)

Cuba (D)
Tasmania
Scraw (8)
Needle (D)
Nall

Sesame (B)
Olive (D)
Moth (B)
Lizardv (D)
Cockroach
Tuberculosis (B)
Cholera (D)
Tetanus

Paper (8)
Wood (D)
Leather

Eyes (B)
Hands (D)
Nosev
Volume (B)
Largev (D)
Weight
Antelope (8)

Carrot
Brinjalv

Thailland¥
Greenland

Hammery
Fin

Corn
Onlen¥

Bee
Aphid

Smallpoxv
Typhoid

Wool
Plastic

Ears
Legs

Size
Shape

Kangaroo

Change’
Revoke

Butter
Cheese

Sadv
Cheerful

Cloud
Rainv

33.

3B.

36.

I ff

38,

a8,

(A} Vessel” {B) Pa

(C) Bowl (DY Juy

(E)} Tumbler

{A) Aunt (B) Mciher
(C} Sonv (D) Daughter
(E] Mieca

(A} Curd (B) Cream
(C) Butter (D) ol
(E) Cheasa

(A} Taopaz (B) Ruby
(C) Diamond (D) Garnet
(E) Pearly

(A) Duckling (B) Cub
(C) Piglet (D) Lion¥
(E) Calf

(A) Whalev (B) Shrk
(C) Cod (D) Starfish
(E) Dolphin

(A) Orange (B) Ind'go
(C) Yellow (D) Gr.an
(E) Pinkv

(A) Gamma {B) Deia
(C) Pesov (D) Beia
(E) Phi

T i S i Sl s T
o
I

._.Cﬁ,[..f.t.-p i‘L—'rfflli I Lftf




1. All excep! Bat can live I walerl. "o 2
2. A except Vel covar the head,
covers the face _
: iahtless birds.
Al excepl Snake are fligh .

Al except Bus are related 1o gducalion.

is a transport. . >
5 All except Water are products abtained fro

milk. e
6. Al except Potassium are melals LSE

semiconducior devices

7 All except Chalk are oblained from crops.
All except Park are halting places of various
fransport means.

9. Swan is the only water bird in the group.

10. All except Sharp are related to dimension

1.
Sclence.

All except Chess are ouldoor games.
All others are paris of a tree except Forest.
Hyena is the only flesh-eating animal in the
group.
All except Korea are European counlries,
while Korea is an Asian country.
Aﬂ___mpt Barber require raw material 1o
work.
: 1?' All except [ron are very valatile,

18, All excep) Grass are non-flowering plants.
All excepl Brinjal can be eaten raw.

12.
13.
14.

15.

16.

Al excepl Geography are branches ufl

Hints & GWW

25
26
27
28.

29.
a0.

.
3.

33.

34
35.
36.

18,
20 All except Thailand are islands.

2“! HmHmmer have a pointed end.
22, Allexcept Onion are used to extract ol

Fe

» While Smallpox is caused By virus,

- Allexcepl Lizard are insects, while fizard is a

I except Smallpox are diseases caused by

37.

38.

38
40.

ponks

Plastic are t"":'”‘ﬂﬁarja-
Gl

materials: :
Al excep! Nose are parts which exist i, Pl
in human bod¥ :
excepl Large are. gonora ph?ﬂicm
pl‘ﬂpeﬂlas of malter
Unicorn are animals, Whitg

excepl :
A s an imaginary creature.

ynicarn i
weept hange are synonyms.

Al e :
Oil are products Obtaineg

|_|.E.|'EI 3“ EKGEPt

from milk.
All except (b) mean happiness,

Al except (d) are particles of waiy
suspended in the atmosphere.

All except (@) stand for the name of ;
particular vessel.

All except (c) are fermmales,

All except (d) are made from milk.

Here, Pearl is only gem formed inside 2
shell.

Here, all except 'Lion' are young ones of
animals.

All except Whale belong to the family of fish,
Whale is 8 mammal.

All except Pink are the colours in a rainbow.

All except (C) are Greek letters. Here, Peso
IS @ currency.,

> ‘Table' is related to 'Wood' in the |
Same way as 'Shirt' Is related to:
A. Cotton B. Clothv
Ell'i; Dress D, Uniform
ngnd?ﬁot:; As 'Table' is made from
fom Cloth' Same way 'Shir' is made

bbb T




Analogy

1.

3.

1.

'M' is a verbal part of the Psycholagical and "Reasoning Tets and forms an

important mgredient of many

Armed Forees Tests and Competitive exuminations

Analogy is form of reasoning in which a similarity between two or more things is inferred
from a known relationship between them. As there can be more than one relationship
between fwo objects. The two pairs of words display a similarity of relationship and are
said to be analogous pairs. TJew exantples are gven bilono:

Giant : Dwarf :: Genius : 7

(A) Wicked (B) Genlle

(C) Idiotv (D) Tiny

Dwarf is the antonym of Giant. Similarly, the
antonym of Genius Is idiot.

Loud : Stentorian :: Bright : 7

(A) Resplendentv(B) Dull

(C) Sunshine (D) Car

The second is heightened form of the first.

Mouse Is related to Monitor as ____ is
related to canvas.

(A) Cat (B) Brush¥

(C) UPS (D) Painter

Mouse puts the cursor where the computer

operator wants to fype.
where the painter wants work on a canvas.

'_,...-"

College : Student :: Hospital : ?
(B) Doctor

(D) Patient’™

(A) Ward boy
(C) Medicine

4,

The brush is put
L

Fruit : Banana :: Mamma - 7
(A) Cowv (B) Snake

{C) Fish ‘D) Sparrow

First denotes the class o which the second
beionags

Which of nuggbers belongs to the given
set?

3, 29, 31
(A) 49 (B) 43V
(C) 45 (D) 46

Because, it is also a prime number like all
those given In the set

42:56::72:7
(A) B1 (B) 80v
(C) 92 (D) 100

42=6x7,56=17 « O so missing fig. s 90 =2
«10.

Te@ o

Video : Cassette : : Computer : ?

(Ay Cover (8) Floppy”
(C) MB (D) Edit
Cloth : Mill :: Newspaper : ?
(A) Editor (8) School
(C) Book (D) PressY




(3 =7
5. CUP:LIPL BIRD A .ﬂv.nimﬂ'

(A) Mouth [ /
(C) Foiast (D) Bea:
. Flow : River Stagnant :
: M?wWEnar B) Cloud
(C) Poulv (D) Canal
7. Paw:Cot:: Hoof : ?
(A) Tiger (B) cat 7
(C} Lion (D) Horse

Ormithologist : Bird :: Archaeologist : 7
(A) Islands (B) Mediators

(C) Arciaeology”
(D) Aquatic

9. K2moun.ain belongs to:
fA) India (B) Japan

{C) Pakistanv (D) England
10. BEGK : ADFJ :: PSVY :?

B.

(A) SXOU (B) ORUXY

(C) MTuX (D) LOAT
11. AZBY :CYXDW : EVFU: 7

{A) GTHSY (B) GSTV

(C} LMOV (D) TGSH
12. ZRYQ:KCJB :: PWOV: 7?7

(A) ACI 3 (B) IJST

(C) ELDKY (D) EOFP
13. CEDH : HDEC :: 7 : PNRV

(A) VRMBY (B) NPNV

(C) NRWP (D) RPVM
14, 14:9:26:7

(A) 17 (B) 14

(C) 30 (D) 15v
15. 123:132::235:7

(A) 132 (B) 152 *

(C) 283« (D) 170
16. M*N:13*14:: F*R: 7

(A) 13*17 (B 155
17. 16:66::22:7

(A) 87

(C) 113 S
18. 4:19:7:2

) * B ®) 58

(C) 19 (D) 17

\

20.

21.

22.

23.

25.

(A
(C) 3/18
27 : 125 & 64:7
(A) 112

() 500

: Hand
?,J;’“i;;?k  Shoe (B)
c) Socks: Feety
(o) Coatl: FPocket
: Court

;-:;W ce:il.-uernist: Laboratory~
(B) Businessman . Club

(C) Labour: Hcme.

(D) Athiete : Olympics
Letter : Word

(A) Page : Bookv

(B) Product : Office

(C) Club : Children

(D) Homework : School
Lively : Duli

(A) Employed : Jobless v
(B) Flower : Bud

[C} F'EC.‘tOI","f LabﬂuT

(D) Happy : Gay

Silence ; Noise

(A)  White : Peace

IE} Bﬂiﬂms : Hairv’

(C) Talk:Hear -

(B) Sing : Dance

(B)
(D)

Y
.
Lol
S

Tie : Wat.
= 'Fl'a"_:\:




Dogar's Unique 1.Q. Tests with Hinis & Explanalory Answers

29,

Hnr

31.

32.

33,

Platform : Train
(A) Aaroplana | Aerodrome

(B) Hotel : Teacher
(C) Quay : Shipv
(D) Footpath : Car
Train : Track

(A) Waler : Rain
(B) Bullet : Barrelv
(C) I|dea: Foot

(D) Fame : Television
Chalk : Blackboard
(A) Type : Ink

(B) Table : Window
(C) Door : Handle
(D) Ink : Paperv

Apple, Grape, Orange

(A) Vegetable (B) Fruits¥
(C) Roots (D) Oats
Lahore, Karachi, Peshawar

(A) Quetta¥ (B) Punjab
(C) KP (D) Sindh
Lock, Shut, Fasten

(A) Table (B) Door

1C) Wood (D) Blockv
Wheat, Barley, Rice _

(A) Food (B) Agriculture
(C) Farm (D) Gramv
Pathology, Cardiology, Radiology,
Ophthalmology

(A) Math (B) Hematology
(C) Zoology (D) Urdu
Urdu, Sindhi, Punjabi

(A) England (B) Thailand
(C) Pakistanv (D) America
Clutch, Brake, Horn

(A) Bus (B) Motorcycle
(C) Accident (D) Steering¥
Binding : Book

(A) Criminal : Gar

(B) Display : Muset '_
(C) Artist: Carpenter
(D) Frame : Picturev”

&

| 40,

Explore : Discover

(A) Read; Skim

(8) Rescarch : Learnv
{CY Write : Print

(D) Think Relata

> ‘Jade’ Is related to ‘Green’ in the |
same way as ‘Garnet’ is related to.

A. Red¥ B. Blue

C. Orange D. Yellow
Explanation: 'Jade' is a 'green’ precious
stone in the same way 'Garnet Is a ‘red

precious stone.

i e e g




t1LS
g are yeated i Hospital
ilarty .
1. () As sudentsTead N Colleg® ™ & ynd in LaWn:
2" (a): As Tree s faund in Forest s:rnl. e copeY] ced in Computer
4 (bl As Cassettels ysad in Video & e ar i5 inted in Press:
4 (djAsClothis made in @ will simila FI e help of Lip$ gimilarly Birds collect grase s
5 (diCupls ysed o drink something wit Yihy ""Er
of Beak fo maki her nest. : i
g Stagnant.
& (o) As Water of a River flows similarly water of Pocl| .
7 (d) As Cat has Paw simiiary Lorse has Hoof. .
i is a iali
8. (c) As Omitholagist s @ spaf:ia!iéi of Birds similarly Archaeologis specialist of ﬁrﬁhﬁamu
9. fc) K2 mﬂuntairfhelnngs {o Pakistan. )
10, (bk
As Similarly » NATION : ANTINO :: Huy
etk - A. HNUGRY GRY
=2 B. UHNGYRY
E=150) s—L,R €. YRNGUH
i ' D. UNHGYR
G—F W ol
v 5 i
i3 % K—f)JF vty . Explanation:
e Bl Simila
‘ 1 .
Simllaﬂy >< H XU‘
A N
v—2,71 T—7
: N—M
F—23H
Py
- >0y
+7
~3 Lk




F‘- Dogar's Unique 1.Q. Tests with Hints & Explanalory Answers
-
13, (a): CEDH ~ Reverse it -» PNRV REASON : SFBTPO - T ? |
Therefore VRNF is the answer A SGHMJ s
14, (d): 14 = (2 « 09— 4) B UJOL~
26 = (2 x 15 - 4) C. UHNKI
2215 D. UJEPM
15. (c) As, 123 = 132 EXPLANATION:
As 235 =253 As Similarty
The middle digit of first term becomes power o the next 1
term. 2,y
16. (c): As position of M and N in Eq. alphabet is 13 and 14, +1
respeclively, 1
*

17. (b): As, 16:56 = (2/7)
Similarly, 32:112; (2/7)

18. (a): As, (4)*+3=19
Similarly, (7)* + 3 = 52

19. (c) As 24:60 = (2/5)
‘Similarly, (120/300) = (2/5)

20. (a): In Eq. alphabet, positions of K and T are 11 and 20,
respectively, Similarly, position of J and R is 10 and 18.

21. (@):27r=3%125=5"64=4"
Therefore ? = 6" = 216
22. (c): As Glove is worn in Hands similarly Socks are worn on Feet.
23. (a): As the working field of Lawyer is Court, similarly the working field of Chemist is Laboratory.
. 24, (a): As Word is a group of Letters similarly Book is a group of Papers.
25. (a): First word is opposite to the second word.
26. (b): As Silence is opposite to Noise, similarly Baldness is opposite to Hair. -
27. (d): As Wick is a part of Candle similarly Wheel is a part of Bicycle.
28. t&j:-SGmnd is the process of gradual disappearances of the first.
29. (c): Second is the place where first stops.
30. (b): As Train is guided by the Track similarly Bullet is guided by the Barrel.
2 (;J)};Aﬁﬂhaﬂsisusadtn write on the Blackboard similarly the Ink is used to write on the Paper.
s, Grape and Orange all are fruits.
the cities given in the question are Province capitals similarly Quetta is also a capital city.

2 synonym of Lock, Shut and Fasten is Block.

terms given in the question are cereals and gram is also one of the cereals.

As all terms given in the question are medical terms and Hematology is also medical term.
t the Languages of Pakistan.

o
L=

+1

All these words represe
(d): All these are part of a veh
(d): A Binding surrounds a Book; 2
one Researches to Leam.

AHNRRARHANS




. Tetion “Lest

SERIES COMPLETIDN
The serics maybe of marber

NUMBER SERIES:

In this question, a numbe
insert a missing number or fi
| series. The only thing to be understood
on which a number series is writien AN
| various methods.

5 O ﬂ&)hﬂbft-

| A

r series I8

| B. ALPHABETICAL SERIES:

In the question involving alphabetical
five times with blank places in between

It will clarify from the following exampies

e fample 1.

Which number will complete the series?
8,130,165, 12,17, 14...

€3 olytion)

Second term is greater than first term b
- a : 5‘
while the third term is less than the second w:rr'r,ur by

3. The
i same order is repealed. So, 19 15 the

|

2.

SRR s wrong among the

__ 8,2,8,8,13,22,18,32,2,, 42

. i
y

..f'

nd the one thal

students are required fo find out the letiers which

—_—

are ask to either
the pattern of the
tion is the patlern
{ormatted by using

aﬂd -I";iil'!”"jﬂl'.ﬁﬁ
does not follow

jving this ques
an beé

0 ivern

for 8O
ymber seres .

es. a sel of lelters I8 written four or
follow a specific pallern and
lace of the missing

52N
The series
should in p

efample 3,

'-;f;’hir:h number will come next in the following
senes

1,8,8,64, 25 216, 7.7

€9 olvtion

The odd terms are squares of the no., 1. 3, &
... While the even terms are cube of the r;u .2 ‘4

-
E/ﬁﬂp{Ec};

Which number will come

4,16,36,7 100, 144 next in the following

OH el . The ;
R—— S e 10,1z e in the series are square of 2. 4
18, 2 and 0. 598545 L = The
ﬁwﬁrﬂm Hence 9 ’.T le, ::‘-'a the missing number is square of &




Dogar's Unique 1.Q. Tests with Hints & Explanatory Answers

120, 99, 80, 63, 48, 7
(A) 387 (B) 49
(c)y 112 (D) 117
589654237, 89654237, 8965423, 965423, 7
(A) 52987 (B) 16528
| (C) 79625 (D) 965427
3,10,101, 7
_ (A) 10001 (B) 10200
' (c) 10202 (D) 11102
4. In the series 2, 6, 1B, 54,  what will
" pe the 8" term?
(A) 4730 (B) 43747
(C) 3473 (D) 7434
5. 125,80,45,20,7
(A) 57 (B8) 11
B @ 7
8, . h:‘d&;;—-’ﬁi‘; 7
e - (B 90
(@) 9 (D) 98
7. 2,15,41,80,7
()" 121 (D) 1327
8. 6,11,21,36,66,7
() 42 L
(C) 81V (D) g1
8 EG".‘ s&zﬂ“ﬂl 315, 7
(A) 672 (B) 386
(D) 1437

e Xample s,
What will be the next term in. BDF, CFI|
DHL.?

Clearly, the first, second and third letters of
each term are respectively moved one, two and

three steps forward to obtain the carrasponding

letters of the next term. So, the next lerm Is EJO

eYample;

nof fit In the sanes?

€3 ofution,

of +4

components would be 1,
150L.5 does not it in thia sanes

#_,.,-"‘"

- Test

© 219

10.

1.

12.

13.

14.

15.

16.

17.

GV SPU, BIT, 1518, 170R, which term s

The numerical parts move with a difference

Thus. the coffect sequence of the numencs
5. 0, 13, 17. Therefore

13, 35,567,79,911, 7

(A) 1110 (B) 1112

(€) 1113 (D) 1315

6,12,21,7,48

(A) 33 (B) 35

(C) 39 (D) None

Which term of the series 5, 10, 20, 40,
is 12807

Ay 1° (B) 9"

(cy 2™ (D) None of these

2.5,9, 7 20, 27

(A) 147 (B) 22

(C) 25 (D) 29

2,3, 5,10, 13, 7, 43, 172,177

(A) 18 (B) 30

(C) 39 (D) 25

9,27, 31, 165, 161, 1127, 7

(A) 613 (B) 1136

(C) 8812 (D) 1123

In the series 10, 17, 24, 31, 38, which

of the following will be a number of the
series?

(A) 84 (B) 364Y
(C) 754 (D) 1000
240, 7, 120, 40, 10, 2

(A) 120 (B 2407
(C) 240 (D) 130




Aﬂﬂ.ﬂﬂff.’-
1., Tests wilh Hints & Explanazy ~
pogar's Unique 1.2+ y7. 14%9 23W11, 34V13, 7
2. 228 TV LT T my BEAT
9. 2,3.8,27,112,7 Ay 1aWR0 L aTviA
(A) 116 (8) ‘3”‘( (c) 47U18” /
(C) 512 (D) 665 13, a1F, S2E, usD, wfl;;_lc';”e’
19, 6,17,39,72,7 (A) S48W 5 chie
(A) 38 {gl f'? (c) Y888 () 3
(C) 1167 () b
aba__Dba_2
20. 1,5,13,26,41,7 M- 55" Aabba (B) abbab
(A) 15 (8) 27 (c) bbbaa (D) bbaba
(c) 61¥ (D) 60 - o5
21, 5,6,9,15 7,40 iy
A) aaaba
(A) 22 (B) 25 : baa¥ (C) aabbb
(C) 24 (D) 11 {8) :a bb |
22, 1,1,2,6,24,7,720 -
(A) 120 (B) 109 36, _stt_tt_Hs _
(C) 140 (D) 1207 (A) tsts (8) tist ;
23, 1,5, 14, 30, 55, 91, ? (C) sstt () fast
(A) 134 (B) 140+ 37. gfe_Ig_eii_fel _gf i
(C) 100 (D) 120 (A) eifgi (B) figie
24. 1,3,4,8,15,27, 7 (C) Ifgier (D) ifige _;
{fgi ;;’f (B) 56 38. _a_b_abaa_bab _abb
(D) 55 (A) aaabb (B) ababb .
25. 150,120, 105, 7 (C) babab (D) babba+ :
(A) 80 (B) 80 19
(C) 97.5+ (D) 88.8 . abca_bcaab _ca_bbc _a
*  Find out th S ) biea
2 wrong term: (C) abacv (D) abba
26. 18, 18, 22, 29, 45, 70, 0. tu H
fA) 12 (B) 22v —M_N_8__usriu_ 1
(A) rtusru (B
(C) 30 (D) 60 ©) rsurt ) rsutrr
27, 8,14, 26, 48, 98, 194, 386 ' r ) Bty 1
(A) 180 (B) 48v .
{CJ 110 (D) 250 |
- Finduutmnm!sging term:
28. B,D,FIL,P,7
29. z‘lulql?’L
(C) z (D) Nv
30. Aj, BJ, CK, ?
(A B (B) LH
(C) MN ﬂ]‘} HT
31. BMX, DNW, Fou, 7
(A) ABZ B) Ywr




Dogar's Unique 1.Q. Tests with Hinls & Explanatory Answers

PHints & Explanations

1 The pattemn s -21, -19, -17, =15,

So, missing term = 48 — 13 = 35
2 The digits are removed one by one from the beginning and the end in order alternalely

Each term in the series is obtained by adding 1 to the square of the preceding term

So, missing term = (101)2 + 1 = 10202,
Clearly,2x3=6,6x3=18,18 x 3 =54, So, lhe series is a G.P. inwhicha=

g term=ar®' =ar =2 x 3" = (2 x 2187) = 4374,
5. The pattern is —45, -35, 25, ....

So, missing term=20-15=5.
6 Thepatternis =2, x4, +2 =4, ..

Sop, missing term = 192 = 2 = 86,
7. The pattern is +13, + 26, + 39, ...

So, missing term = 80 + 52 = 132.
B. The pattern is +5, +10, +15, +20, ....

S0, missing term = 56 + 25 =81
9. The pattern is +84, -168, +336, ..

' So, missing term = B15— (84 « 23) =815-672 = 143,
10. The terms of the given series are numbers formed by joining together conseculive odd numbers in
orderie., 1and 3,3and 5, 5and 7, 7 and 9, 9 and 11, ....

l So, missing term = number formed by joining 11 and 13 = 1113.

11. The patternis +6, +9, +12, +15, ....
So, missing term = 21 + 12 = 33.
12. Clearly, 5x2=10,10x2= 20, 20 x 2 = 40, ... So, the series is a G.P. In which a=5 and r=2. Let
1280 be the nth term of the series
e 5% 2 = 1260, 2" = 266,2°=2"",8=n-1,n="9.

13. The pattern is 43, +4, +5, +6, ...
~ So,missingterm=9+5= 14,

N e +1, x 1,42, %2, +

esing term = 13 x 3 = 39.

2 r= 3. Therefore,

ie. + B4, —(84 x 2), +(84 x 22), ....

3x3 +4, x4, +5.

ol 1T
* The pattern is x3, +4, x5, +6, x7, ...

So, missing term = 1127 + 8 = 1135.
16. The given series consists of numbers each of which, on dividing by 7, leaves a remainder 3. No

other number except 346 satisfies the property.
17. The pattern is +1, +2, +3, +4,+5




Tests with Hints & Explanatory (1o

Dogar's Unique 1.Q.
attern is +11, +22, +33, ) . ' ?
MU oo 1. What number should come next in the series, 1, 2, 3, 5 8,
g, missing term =72 * pat £ 42 Y
116 O 15 L. 13"'{
20, The pﬂ“ﬂfn is +4, +8, +12, +16
éur ml“lng farm = 41 + Z'D " Cﬂr“ﬂt Ans: 13
61. Explanation:
21. The pattern is +1, +3, e it this series, each term |8 the aum of praceding two terms &%,
So, missing term Is 156 + 10 = 14793
25. 34255
22, The pattern Is x1, x2, x3, x4 ... §4328
So, missing term Is 24x5 = 120. Naud tarm In the series will be,
23, The pattern is +4, +8, +16, +25, Besm 13 : i
+38, +40 T ——————————————
So, missing term is 81 + 49 =
140
24, Has no explanation.
25 Has no explanation.
268. The cormrect pattern is +1, +4, +8, 16, +25....
So, 22 is wrong and must be replaced by 20,
27. The comect pattern is =2 = 2
So, 48 is the wrong and must be replaced by (26 x 2 - 2) = 50.
28, B+2=D,D+2=F F+3=11+3=L L+4=P,P+4=T,
29, Z-5=U,U-4=Q,Q-3=NN-2=L,
30, 1*fetter; A+1 =B, B+1=C,C+1=D
2" letter: 1+1 = J, J+1 = K, K+1 = L.
31, 1"lefter, B+2=D, D42 =F, F+2=H.
2" letter: M+1 =N, N+1 =0, O+1 =P
3% letter: X-1=W, W-2=U, U-3=T.
3z. 1:;Ialter 246=7 7+7 = 14, 1449 = 23, 23+11 = 34, 34+13 = 47
Im letler: Z-1=Y Y-1=X X-1=W W1 =V, V-1 =1
Vletter: 5+2=7,7 +2=9, 042 = 11, 1142 = 13, 13+2 = 15,
33 1::lnttar: Q#2=8,8+42=U,U+2=W W42 =¥,
Zm letter: 1x141 =2, 24242 = 6, fx3+3 = 21, 21x4+4 = 88,
3"letter: -1 = €, E-1 = D, D-1=C, C-1=B :
:;- ':hh: series Is ab/ab/ab/ab. Thus, the pattern ‘ab' is repeated.
: series Is aba/aba/aba/aba. Thys, the pattern ‘aba’ is repeatad
36, The series is tst/tsttsutst  pé PR
i - Thus, the pattern 'tst' is repeated
37. The series E-WVWGWEEI i :
: Gleiigfeil. Thus, the pattern ‘gfeii’ is
38. The series is baa/bbasba : g repeated,
5 The series is abc/aabc/aabbe/aabbees . em baa/oba is repeated.
80, The serles rtus/mus/rus/rys. Thus, the

.
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Coding—Decoding

o this chapter, we deal with the question which is coded in a defanite

pattern. Coding is a system of letters,

dlmt:urnguuudfard:rﬂlfm

Wm.%mmﬂ[nrbmmﬁﬂmgwsmgumﬂumm

A any third person knowing it.
Types of Coding:
1. Letter Coding
3. Substitution Coding

1. LETTER CODING:

in the following question, the letters are coded

as some other letters. Trace the code and find
 the code for given groups of letters

1:
In @ certain code, TEACHER Is written as
m How is CHILDREN written In that
wm
¥ 'WGTF' (B) EGKNFITP
"‘-"‘5"“ {B}WGTU (D) EJKNFTGP

._

: ;.vhwwn yatejaT
letter is increasing by 2)
ILDREN:EJKNFTGP

2. Number Coding
4 Mixed Letter Coding

'3, SUBSTITUTION CODING:

e)ample 3.

if in a language, finger is called oe, toe &
called foot, footl is called thumb, thumb s called
ankle, ankie is called palm and paim is called
knee, then in that language, what will an lliterate
man put to mark his signatures?

(€9 olution,

An lliterate man puts his thumb o mark hs
signatures. But as given, thumb Is called ankie. So
an iliterate man will pul his ankle '© mark his
signatures.

4. MIXED LETTER CODING:

e)ample 4.

If 341782 means MONKEY and 0596 means
RAGS, then 76195044 means?

341782 0596  letters
MONKEY RAGS code
So, 75195044 = KANGAROO.



"

Iif E= 5 and HOTEL = 12, how will you
code LAMB? _

(A) Tv (B) 11

(C) 12 (D) 25

If 0 = 16, FOR = 42, then what Is

FRONT equal to?

(A) 12 (B) 27

(C)y 37 (D) 78v

If 'sky’ is 'star’, 'star’ Is ‘cloud’, ‘cloud"
is ‘earth’, ‘earth’ is ‘tree’ and ‘tree’ is
‘book’, then where do the birds fly?

(A) Book (B) Earth

(C) Starv

(D) Data inadequate

If ‘man’ is called 'girl', 'girl’ Is called
‘woman’, ‘woman’ is called 'boy’, ‘boy’
is called ‘butler' and ‘butler' Is called
‘rogue’, who will serve in a restaurant?
(A) Boy (B) Father
(C) Roguev (D) Woman

If ‘water’ is called food', ‘food’ is called
‘tree’, ‘tree’ Is called 'sky’, 'sky’ is
called ‘wall', on which of the following

grows a fruit?
(A) Water (B) Food
(C) Skyv (D) Tree

In a certain code language, ‘mink yang
Pe’ means ‘fru'ts are ripe’, 'pe lao may
mink' means ‘oranges are not ripe’ and
‘may pe nue mink’ means ‘mangoes are
not ripe’. Which word in that language
means 'mangoes'?

(A) May (B) Pe

(C) Nuev (D) Mink

If in a certain language, FAMOUS is

coded as JWPLWQ,
MIRACLE be codedr . - oW Wil
(A) ELCARIM (B) CLEMIRA

(€} QUEXJEF (D) NsBDME

Ifin a certain language, FoQ
L] TE
coded as BSLWzZckwm, then hnﬂ-l;u:;
TENNIS be coded?
QMLPHTv (B) SINNET

(D) UFoout

p.

10,

1.

12,

13+

14.

15.

If in a certain language, GAMBLER s
coded as HCNDMGS, then how will
MARTIAL be coded?
(A) LAITRAM (B) NBSUJBM
(C) NCSVJCMY (D) NCSVJAM

If in a certain language, PICNIC Is
coded as 123423 & PRIDE is coded as
16256, how Is PRICE coded in that
language?

{A) 243751 (B) 157342
(C) 157324 (D) 152437+

If in a certain language, ABOUAT is
coded as BE753 & AWARE is coded as
84821, how is ERRATA coded in that

language?
(A) 228381 (B) 129871
(C) 831228v (D) 138228

Ifin a certain language, GOLDSMITH is
coded as 967853421 & SMOOTH s
coded as 536621, how is MOLDIT
coded In that language?

(A) 842763 (B) 678423

(C) 198871 (D) 842736

If in a certain language, SURVIVE s
coded
coded as 6549554, how is RUMOUR
coded in that language?

(A) 518818 (B) 581618

(C) 865118 (D) 816518v

If sait is called pulse, pulse is called
sugar, sugar is called wheat, wheat is
called rice and rice is called vegetable
what should a Person with dlahﬂtﬂl:

avoid?
(A) Sugar B
(C) Rice {[D; ;k;ilatnt-f

called auditoriy auditoriy
: m s called
p::y;;mund and playground is caH:d
Ng, where wij one find ks?
{2} Auditorium (B) Class
) Library (D) Lab




Dogar's Unique 1.Q. Tests with Hints & Explanalory Answers

16.

17.

18.

19.

20.

21,

22

In a certain language,

if rose is called mango, mango is called
onion, onion is called potato, potato is
called chilli, ehilli is called sugar, what
should be used to make a shake?

(A) Mango (B) Potato

(C) Onion (D) Chilliv

f a man Is called dog, dog is called
chiid, child is called woman, woman Is
called priest, priest Is called devotee,
who Is a pet animal?

(A) Childv (B) Dog

(C) Priest (D) Man

If orange Is called yellow, yellow Is
called pink, pink Is called white, white
is called black, black Is called blue,
blue Is called green and green Is called
red, what Is the colour of sky?

(A) Blue (B) Yellow

(C) Greenv (D) Orange

in a certain coded language, 'pac vac
nac' means ‘water Is cold’; 'to nac ra’'
means ‘tea Is hot'; ‘ra pac doo’ means
swater and tea' and ‘vac dho la' means
‘Beer Is cold’. Which word in that
language means 'tea’?

(A) nac (B) rav

(C) to (D) pac

in a coded language, ‘pik na sud’
means 'you may go’; na joc ta' means
\come and go' and ‘joc pe rod’ means
‘boy and girl'. Which of the following
means ‘boy' in that coded language?
(A) pik (B) pe

(C) rod (D) prorrod¥

In a certain language, ‘tun min sam’
means ‘sugar is bad’; 'sam kot cim’
means ‘salt s best' and ‘yah ton min
top’' .means ‘do away best bad'. Which

of the following means sugar in that
language?

(A) min (B) sam

(€) tumv (D) yah

‘pre nat bis’
means ‘smoking Is harmful’; ‘vog do

nat' means ‘avoid harmful habit' and

~‘dor bis yel' means ‘please avoid

e ..'g

smoking.' Which of the following
means 'hablit’ in that language?
(C) dor (D) bis

23. In a certain code language, ‘146" means
‘hot black tea’, ‘356" means "very black

man’ and '389° means ‘man and
woman.’ Which digit stands for ‘very'?
(A) 9 (B) 6~
(C) 8 (D) 2

24. In a certaln code language, ‘123 'means
‘speed and accident’, '3458' means
‘speed Is cause’ and ‘148’ means
‘accldent s effect’. Which of the
following numeral symbols stands for

‘cause'?
(A) 3 (B) 4
(C) &Y (D) ©

25. In a certain code languaje, '389' means
‘run very fast', ‘964" means ‘come back
fast' and '487' means ‘run and come.’
Which digit In that language means

‘come'?
(A 7 (B) ©
(C) 4 (D) 8

28. In a certain code languadye, '643' means
‘he Is boy', '669' means he reads book’
and '864' means ‘this I book’. Which
of the following means ‘hook' in that

language?

(A) B (B) 8
(C) 4

(D) Data inadequate
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10.

1.

DHints & Explanations

() Clearly, the code of a word is obtained by dividing the sum of the individuals of its letters by 1,

number of letters in the word.

Thus, H+Q*T+E+L/5

= B+15+20+5+1215 = B0/5S = 12

S0, LAMB = L+A+M+B /4

=1241+13+2/4 = 28/ = 7

{d) We have: A=2, B=3, C=4., .72=27

FOR = F+O+R = T+16+18=42

FRONT=F+R+0 N+ T

= 7+19+16+15+21 =78 -

(c) Birde fly in the ‘sky’ and as given ‘sky’ is ‘star.' So birds fly in 'stlar, ' N |

(e) & ‘butler’ serves in a restaurant but 'butler’ is called ‘rogue.’ So a ‘rogue’ will serve in #
restaurani

{€} A Truit grows on a ‘tree’ and ‘tree’ is called 'sky.' So a fruit grows on the 'sky.'

(e} In the second and the third statements, the common code-words are ‘pe’, ‘mink’ and 'may’ an

the common words are ‘are’, 'nol’ and ripe’.
So, in the third statement, ‘nue’ means ‘mangoes.’'
(€) The iatters get repiaced n a set pattern as shown below:

M | R A C | E
I VO T |
T =4 #3 .3 +2 9 +1
5 V. . o |
QE U x J E
(8) The letters get repiaced in 3 sel paltern as shown below:
k- N N o=
Sl P '}
SAEgE 47 =1 %4

NS oW , - W

(d) Clearly, the alphabet are coded as:
PICN|C PRIDE = .
12342 3 15 267
S0, Prince is coded as 152437
(¢) Clearly the alphabet are codeq lo

. a : - |
ABOuT AWARE i -I " : e
86753 84821 | %

% ERRATA is coded as 122838
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i2. (c} '-1learlp the alphabet are coded as follows
GOLDSMI| TH SMOOTH
86 78 534 21536621
So, MOLDIT is conted as 1872472
13. (d) Clearly the alptabest are coded as follows
SURVIVE MONS OON
9182723 65495 54
So, RUMOUR is coded as 816518
14. (b) £ person with diabete should ; ' :
with diabetes should avoid ‘wheat avoid ‘sugar ’ But ‘sugar here is known (s wheat” So person
: : ::; Z:.:i aitna p1:::ed In the ‘library ' Sa the books are available in ‘auditoriu
_ s made with ‘mango ' B “chilli e ;
‘chilli is called here ‘sugar go.’ But ultimately ‘chifl’ should be Used 1o maks a shake, bacause
17. (a) _ﬁc?' Is a pet animal. ‘Dog’ here Is known as ‘child ' So the ‘child' is a pe: animal
i8: (c) |F_: colour of sky is ‘blue ' But 'blue’ here is known as 'green.’ So the “o our o sky is ‘green Y
19, Fh]‘ In the second and third statements, the common word is tea’ and In: common code is 'ra’. So
ra’ means ‘tea’’
20. (d) In the first and second statements, the common word s ‘go’ ana the commun code & Ee
‘ja’ means ‘go.’
In the s:E:u"!d and third statement the comman word is ‘and’ and common oode 18 joc. So ‘joc’
means ‘and.’ Thus, in third stalement, the word "boy” means ‘pe’ or rod.

21. fﬁl In the first and second statements, the common word is ‘is* and the common code is 'sam.’ So
sam’ means ‘is’. In the first and third statements, the common waord is "bad and the common code

is ‘min. 52 ‘min’ means ‘bad.’ Thus. in the first statement, 'tun’ means sugar.
(a) In the first and second statements, the common word s ‘harmful and the common code is

‘nar'. So nat’ means "'harmful.’
In the second and third statemenis, the common warg s ‘avaid’ and the common code is 'dor.’

So 'dor’ mieans ‘avoid'. Thus, in the second statement, 'vog' means 'habit’
23. (b) In the first and second statements, the common word 's ‘black’ and the common code IS ‘6. So

‘6" means 'black.’

In the setond and third sfatements, the comman word is ‘man’ and the common code is '3 S0 'F

mearis ‘man’. Thus, in second statements means 'very.'

) In the first and second statements, the common word is ‘'speed’ and the common code is 3.
S0 ‘3 means 'speed ' Thus, in second statement, ‘s’ means 'very.’

In the first and third statements, the common word is ‘accident’ and the common code is "1." o '1'

In the second and third statements, the common word is 'is' and the comman code is ‘4.’ So '4

Thus, in second statement '5’ means ‘cause.’

(e} In th first and second statements, word is 'fast’ and the comman code is '9. So ‘G’ means
JEE. P

nts, the common word is ‘come’ and the comimon code Is 4 So'd

and the common code is '4' So

nents, the common word is ‘green
and third statements, the commo

L L L 5 »

n word is ‘book’ and the common

P B Tarm B
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Dogar's Linnfrie 1.Q.

Nonber, Ranking & Time
This chapter deals with the question velated with comparison of ranks.

The term ranks inclide various objects such as age, height, marks, etc.

ight:
position of Person from upward / r
= [Total no, of persons = position of person from down/left] + 1

Position of Parson from downward / left:
= [Total no. of perzans ~ position of person

from up / right] + 1

. e Yample 1. e )ample 2.

14
Is fourteenth from the right end In & row in @ row of boys facing the north, A Is 18
b, i\hat 1 s postt : from the left end and C Is 16™ from the right eng

of 40 boys. What Is his position from the left end?
i ? B. who Is 4™ to the right of A, is 8" to the left of
in a row. How many boys are there in a row?

Clearly, number of boys towards the left of (a) 39 (b) 40
Manli= (40 - 14) =26 + 1 = 27 (c) 41 {d} 42

So, Mani is 27" from the left end m

According to given conditions, there are 1
boys 1o the left of A, as well as to the right of C
Also, B lies between A and C such that there an
three boys between A and B, and 4 boys betweer
B and C. So, number of bays in a row:

=f15+1+3+1*4+1+15}=4u

i

1. Amer's position is 14" from upwards In a

class of 43 students, What will be his |3 Riaz and Shabbir are ranked 13" and 14"

{F“AJ Haf%grﬂm duv;g;u#;? E:E“ff;lug In a class of 23, What is thel
' m the last
A B gh17n (g g g

in a class of © 17100 (D) None of these
his position | Riaz Is 7 ranks ahead of Ali in a class o

2. Riazis 9" from d
ownward
31 students, What will h:
rds?

[IAmeu 39, If Ali's k
9 ' rank is

(B) 11" iak _ seventeenth from th?
(€) “!.3"'« (D) 13t {A}t' ""_m!"!,l is Bhlh{h-ir'_ : I1r1lil.‘!|t from the start!

() 1e™v ©) gt
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©) o

Aftab ranked 11" from the top and thirty, | 12.
one from the bottom in a class, How many
students are there In the class?

Ay 12 (B) 49

(C) 41v () 40 13.
Noor is eighth from the bottom and
fourteenth from the top. There are fifteen
boys between the first student and the 14.
last student. How many girls are there?

(A) 15 (B) 26

(C) Datainadequatev

{D} His not possible 16.
Some boys sitting In a row, P is sitting
fourteenth from the left and Q is seventh
from the right. i there are four boys
between P and Q, how many boys are
there in the row?

(A) 25v (B) 23
cy 21 (DY None

16.

if the fifth day of a month is Friday, what
is the day on the 4™ day before 26" of that
month?
(A) Sunday (B) Mondayv
(C) Thursday (0} None of these

In a particular month, all the four
Sunday's fall on 37, 10", 17", 24",
respectively. If the first day of that month
is Friday, what will be the first day of the
next month?

(A) Maonday

(C) Wednesday
(D) Data inadequatev’

Aman remembers that his father birthday
Is after 16" but before 21" of March, while
his brother Munir remembers that his
father's birthday is before 22™ but after
19" of March. On which date is the

17.

{B) Thursday

hlrthda{ of their father? A
(A) 12 (B) 20"
(c) 18"

(D) Can't be determined

Shabbir is seventeenth from the left end
of a row of 29 boys and Kamran is 17"
from the right end in the same row. How
many boys are there in between in the

row?
(A) 37 (By 7

(D) Data inadeguate

18.

19.

Noor ranks 18" in a class of 49 students.
What is his rank from the last?

(A) 12 (8) 17

(C) 3@ (D) 327

How many 9's are there In the following
sequence which are immediately followed
by 2 and also Immediately preceded by 37
3924, 3923, 9392, 3929, 3

(A) NIl (B) One
(C) Two (D) Three
(E) Maore than threev

How many such §'s are there in the
following number Ssequence which are
immediately preceded by 7 or immediately
followed by 27

5735 3751 6752 4525 7243 1527 58

(A) One (B) Two

(C) Three (D) Four

(E) More than fourv

How many 1's are there in the following

sequence which are Iimmediately
preceded by 9 but not Immediately

followed by 77
7191 1718 8171 2131 4571 3917

(A) Onev (B) Two
(C) Three (D) Four
(E} More than four

How many 6&'s are there in the following
number sequence which are immediately
preceded by 9 but not immediately

followed by 47

5443 2963 1649 6496 4215 8672 1474 0642
(A) One (B) Twov

(C) Three (D) Four

(E} More than four

How many 3's are there in the following
number sequence which are immediately

preceded by & but not immediately
followed by 77

2374 3563 7463 B963 5183 7242 8639

(A) One (B) Two

(C) Threev (D) Four

(E) More than four

How many 7's are there in the following
number series which are neither followed
by 5 nor preceded by 87

7587 7587 5578 8557 8758 7788 5

(A) One (B) Two

(C) Threev (D) Four

(E) More than four
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Answiols ——

nty - seventh from the

20

21.

......
.

itk
’ : Q. Tests with
Dogar's UﬂW““' | hﬂ'ﬂame Wi n
8's Sale many students are thore
ln the series given below, s mi.nb?l' its botai ﬂ“w
are there whicl are exactly d”'it:;; as the class (8) 30
immediate  preceding @3 (A) 5; ?
succeeding numbers? c) 3 .
AR 2452 4BGR 2824 8342 BB EDI Data inadequal®
(AY  Orno fgi Two (E) None of these?
() Thrag () Four han G and F. N is shorter than
(5). e 27, Bl taller LAM man F byt shorter than N.
How many #'s are there in u:n n:::u:!inig :;.ih 5 :nung them (s the shortest?
. of numbers each of WhG | 1
::ﬁ?in: ‘ -.-"|1I‘f.-|.:ﬂ'fl£'l" by an odd number I"E_"II “ () -
but Is rot Immediately followed by an (C) F
gven nunr? (D) Data inadequate
=g28 ¢ 165 7384 7819 Aaas (EY None of these
tA)  Tries (B) Twov - B ==
(cy Ono () Five “Directions (0 27428). Aasia s ta}ler than
(E) MNoneof these I' Shazia bul shorter than Ghazal Samzq is Sh;:‘ll"lE‘r
In the séries given below, how many 8's | than Shazia but tallz than Minal Samina is taller
are  there which are not 1mm&dfate!v'_ than Aasia e i il
e | immediately | 36 \io among them is the shortest?
9623 9656 6206 9542 0596 (). paIe (%) S
(A) Ons (8) Two (C) Minalv ;
(C) Thrueev DY Four (D) Cannol be determined
(E) None of these (E) None of these
How many 2's are there In the follawing |29 Who among them is the tallest?
uenc.: which are preceded by 3 as well {A) Samina
seq Yy
as follov.ed by 87 (B) Either Ghazal or Samina
.::EE?_‘EE.:T 3823 E;ﬁ:ﬂ 3288 32 (C) Either Samina or Aasia
Onit: (B Twao
, _ (D) Ghazal
RENRERppes. 11 (D) :Four (E) None of these
(£} None df these
30. In a queue at bus stop, Hamid was 17"

Amer's rank Is seventh from top in a class
of thirty - live students. What is Manzoor's
rank from the bottom who is four ranks
away from Amer from the top?

(A) 25" (B) 27"

(C) 28" (D) 26"

(E) Neoneof these

S is heavierthan R, Q is lighter than N. N
is heavier than P

vl ‘;;1: lighter than Q. R is
heaviest?
(A R
(Cy Q

Wja's rank

is fifth from the

from the beginning and 19" from the end.
Seven persons who were after Hamid left
the queue before the bus came. The bus
entertains 21 comfortable seats, 4 front
n:\glna seats, 4 back seats and 11
;:r:dlnu Passengers in serial order from
£ginning of the queue. Hamid will:

(A) Geta comfortable seats’
(B) Geta front engine seat

(C) Getaback seat

D) Have to go standing

(5}, Not be allowed into the bus
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11" ang 12"

(€) 11" and 10"v

(D) 9" and 10"

(E) None of these o
32. In the series given below, how many B8's

are there which are exactly divisible by Its

immediate preceding as well as

succeeding numbers?

2838 2482 4868 2824 8382 86

(A) One (B) Twov 9.

{C) Three (DY Four

(E) None
33. How many 2's are there in the following

sequence which are preceded by 2 as well

as followed by 87 |

42823 2822 3823 2328 3288 32 '

(A) One (B) Two

(C) Threev (D) Four | A0

(E) None of these i
34. Amjad ranks thirteenth in o “lass &

one. Wl'}a‘l is Ris rank ir

Ay 15" (8) 1

(C) 18" () 20°

(E) MNane

wirig informe

Directions (34-27): Study the lolio
o answer the given questions

(@)
g" and Adeel's rank is 12"
gabia's rank among the
4" from the top and 13
Adeel's rank among the boys
and 22™ from boftom

in order of rank, how many girls ar
between Sobia and Adeel?

(A) Onev (B) Two

(C) Thee

(D) Cannot be determined

(E) None of these
What is the respective
3:2 B 2:1

irls in that class 18
from bottom and
is 7" from top

(b)

g there

ratio of boys and

in a class of boys and anls_ Bobia's 1ank & |

,'_1[1 e s Hamnge

i

Canno! be detarmined
None ol theso

(£
()
How many students are there in the
class?
(A) 19
(C) 48
(DY Cannot be detatmined

(E) None of thesa?

in a car rally Tony, Robin, Tliomas, Lucky
and Michael are taking a part Tony is
Lehind Michael but s ahead of Thomas.

Michael is tehind Luciy bul is ahead of
Tony, Robin Is In th middie. Who is

shead amonag all of tham?

ta) 28

(A Tonyy (g} Thomas 4
(Cy  Michael () Lucky
(£}  Robin

than Asif but smaller than

v aehif. Imran is taller than Kamran but not
(41l 25 Sameer. Who is the tallest?

(B Amer

(0. Sameer

Amor s taller

[
[«.amrIan
(E} HKashii
in a niagr__ 1 ;12 5'."'dﬁ:l1t-5'r Farld; is 'I'anked
18'", What is her rank from the last?
by (B) 44"

b

i3 ) 46
None of ihe-s_e

i3

- )

T T ree

Anol

3 " ; £,
O 1t‘\{.ﬁ fonshe
'me';_[.-!'h':ﬂ:,r_.n{f it a1
P ot e aotides

n 5 Jotid

Mo 16 Fobitd_—os U5
ot Vilomipas 15 8 lipe o B 35, 9 14  ippe e
-S\’fnﬁi‘ij (RS sl o toSAB-3
< ?Lf}u&nmqﬂm}_ghﬁﬁﬁjﬁ

Iyl a1 ESSRC

i

2




Fints & Explanations

= ts — Amer's position from upwards +1 = 42 .
¢s position from downwards = fotal studen po 431,

1. (a ﬂl’;;m
0 {4; : Hr'ra‘.-‘glpﬂs-tlfﬂn from upwards = lotal students — Riaz's position from down + 1 =31 g .,
23"
3. (c)Rark of Riaz from the last
=23-13+1=1
And Rank of Shabbir from the last
=23-13+1=10
4. (c)Allis 17 from the last and Raiz Is 7 ranks ahead of Ali. So Riaz is 24" from the last.

Number of students ahead of Riaz in rank = (39 — 24) = 15
So, Riaz is 18" from the first.
§  (c) Top rank = 11 and bottom rank = 31
So,no ofstudents =11 +31-1=41
E; (c) 13 sludenis + Noor + 7 sftudenls

Tofalno ofstudents 13+ 7+ 1 =21
Total no. of boys between 1% and the last is 15, but we do not know whether the 1* and the last

are boy= or girls, so data inadequate.
7. (a) Number of bays in the row = number of boys uptil P + number of boys between P and Q +
number of boys including Q and those behind Q= 14 + 4 + 7 = 25

B. (b)126- 4) = 22™ day of the month
Hence5+7+7+23
l.e., Friday +3 = Monday

9. (d) From the given information it ,
inadequate, « 118 not ciear that month is of 30 days or 31 days. So dats

10. {b) From the given information, it's clear i i
U et that the birthday of their father is on 20" March.
Number of boys to the left of Kamran = (29-17) = 12.
So, Kamran is 13" from the left end Also, Shabbir is 17" from the left end
" Ef}le:?m :::: are 3 boys be:nveen Shabbir and Kamran, |
students behind Noor in rank = (49 - 18) = 31
So, Noor is 32 from Jast
13 (8) 39243923939239293
-M.WES{Tgm?gusza?mmgzrss
5. (@) 719117189171213145713917




Dogar's Unigue 1.Q1. Tests with Hints & Explanatory Answers

16.
17.
18.
18.
20.

21
22,
23.

24,

25.

26.

27.

(b) 54432963164064.215967214749642
(c) 23743563746389683518372428630
(c) ?5B??ﬁE?EE_?"BESEEE?EE?ZEEE
(b) 2838248248682824838286
(b) 78289385238478198885
(c) 962386968209695429596
(c) 42823282238232328328832
(a) Amer Manzoor
1,2,3,..7",8,9,10, 11™ ... 35
Clearly Manzoor is 11" from the top. So Manzoor's rank from the bottom = 35 - 10 = 25™
(d) (i) S>R ()M =>Q
(i) N > P (MN<Q
(VR>M=S>R>M>0Q>N>pP
So, S is the heaviest.
(e) Present position: |
Shuja Saleem
e VLT SRR+ SR 1L e |
Final Position
Saleem
$,.2.3.4,27",28, ... 3.2, 1,
So, total number of students in the class = 27 + 4 e, 31

(d)(HB>C (hB=F
(li)C>N (iVyT>F
(M T<N

Since the inequalities (1), (i) and (jii) are inconclusive, the data is inadequate.

(c) Aasia > Shazia (i) Aasia < Ghazal
(ili) Samia < Shazia (iv) Samia > Minal

(v) Samina > Aasia
Samina and Ghazal > Aasia > Shazia > Samina and Minal.

So Minal is the shortest.
(b) Here, since relationship of Samina and Ghazal is not clear so. Either Ghazal or Samina is the

tallest.

3,21 1




ye = 17 + 18 = 35. Now, !Mml'hﬂ&disﬁ"frmtha

mﬂﬂ!ﬁ'ﬂlhﬂ que
su_tatql number of pé . . . t >
[hEI uenpmsuﬂsmrhunhadstawd there in the queue, * Seal even

se : .

30. (c) Saljjid Riaz
1,2 3. &, Linn ot 14", ... 22.23

- ¥ W L = = t_- 12
So, Sajjid’s rank from end = 23
answer is 117 and 10", respectively.

31. (b) 2§38248248682824838286
32, (c)42823282232328328832
(c) The seguence is:
1.2.3,....12, 13,14,15,....30, 31
Amjad

(a) The number of girls between Sobia and Adeel = 54 = 1 Girl.
(e) the ratio of : Boys and Girls is 28 : 19.
(b) The number of boys between Sobia and Adeel =6 — 2 = 4 boys.
(e) The number of students = Boys + Girls = 28 + 19 = 47.
(a) {i) Michae! > Tony (ii) Tony > Thomas
(iii) Michael < Lucky (iv) Robin is in the middle
Lucky > Michael > Robin > Tony > Thomas
So, Lucky is ahead of all of them.
] 39. (e) (i) Amer > Sameer (ii) Kashil > Amer

(i) Imran > Kamran (iv) Sameer > Imran

- ’Mﬂ?ﬁm&r > Sameer > Imran > Kamran

So, Kashif is the tallest

40. () Do yourseif, 62 - 18 =44 + 1 =45,

= 11" and Riaz's rank from end - 23 — 13 = 10" 55 4,

b

89888

4




Dogar’s Unigue 1.Q. Tests with Hints & Explanatory Answeors

“Blood ‘Relations

Problems on “Blood “Relations irvolve analysis of information showing blood
relationshiy among members of a family, Jn the question, a chain of relationship
is given in the form of information and, on the basis of that information, relation
between amy two members of the chain is asked from the candidate.

Blood Relations — Points to Remember:
Mother or father's son - Brother

Mother or father's daughler — Sister

Mother or father's brother - Uncle

Mother's or father's sister - Aunl

Mother's or father's father — Grandfather
Mother's or father's mother — Grandmother
Son's wife — Daughter-in-law

Daughter's husband — Son-in-law
Husband's or Wife's sister — Sister-in-law
Husband's or Wife's brother — Brother-in-law
Brother's son — Nephew

Brother's daughter — Niece

Uncle or Aunt” son or Daughter — Cousin
g » Sisler's husband — drother-in-law

» Brother's wife - Sister-in-law
» Son/Daughter of Grandson/ Granddaughter — Great grandson/ Great granddaughter

N Y Y YVYVYYVYYYYY

B o Yple:.

B sayir , '1-|. is the husband of Introducing Rabia to guests, Amer said, "Her
a father of my father * Huw father is the only son of my father.” How is Rabia
A of priti related to Amer?

el & ﬁhmﬂdnml-l !' b
i 2 Gan B85 i aftt o4 A& peepen
|t.."-. LE :!!uﬂﬂﬂ ant 5 A Eaee




Explanalory ANSWErS

——

Ulllﬂ'ﬁ#l-n- Iﬂ"’ f“” II”ri 5 &
M‘f 5

———

" Mather's hushand -> Father, Fathersy , 8
J .» Grandmother
gxﬁﬁ.}pmi ' ter of K Folf A F ndmaother's daughter -> Fathers
' means P 15 sisle p is father of K. Gra : R e

5 of K, and 'P-K means he aunt of B? Father's sister -> AU

m;’:ﬂhe fuirnwfng mear:: : : i gl 3% s anewer
(b} B~

a) A+P+B

ffr:}]I A-P+B (d) A+P-B e/ﬁmplﬂ 5: §

s Maria told Mani, “The girl 1 met yr:::r;ma-,, o

A ig the sister of P and P Is Lllgmb:ﬁ::ﬂﬂlh:‘:zﬁg?;? ,gz?hgert?:::i:'i

for 6. This, A f B. So, (d) Is the ' to Maria's friend. I
father of B. Thus, A is the aunt o the girl related to
answer.

i . 10.
-in-law -> Niece, Mothe

@ﬁ;ﬂpl& 4: Daughie:: %Lt;irr?lher In-law othery

Painting out o a lady, Sadaf said, “she Is the i s R A

H ho s tf ther of the So, the girl is the cousin of Maria's
daughter of the woman who is the motl
husband of my mother.” Who s the lady lo Sadaf?
'__,,.-"'
11.

Pointing to a photograph of a boy All said,
‘He is the son of the only son of my
mother.” How is Ali related to that boy?

(&) Sister (B] Mother

(C) Cousin (D) Fatherv

If A + B means A is the mother of B:.A-B
means A is the brother of B; A % B means
Ais the fatherof Band A = B means A is
the sister of B, which of the following
shows that P is the maternal uncle of Q7

(A) Q+N-M«P
(B) P-SxN+Q
{C) P-M+Nxqv
D)y Q-s%p

IFA Is the hmmsrnfn'ﬂls!h

H e sister of C:
, L
mnd C is the father of D, How D is refated

A?

(C) Nephew

(D) Cannot be determined.

IfA+Bmeans A is the bro

" m ’

Hﬂm A is the sister of Bﬂr:::lﬂ,

MA Il the father of B, Which
e 9 11€aNs that C is the son of

1.

A-B
AxB
of the
M7

-

(A) M-N-C-F

(8) F+C-N+M

{C:l N+M-FxC

(D) MxN-C+Fv

Introducing a boy, a girl said, “He is the
son of the daughter of the father of my
uncle." How is the boy related to the girl?
(A) Brotherv (B) Sister

(C) Grandfather (D) Son-in-law

Entrnducing a4 man, a wom

. an said, "He is
Lhe only son of the mother of my mother.”
ﬁ‘uw is the woman related to the man?
(A) Uncle (B) Brother

(C) Niecev (D) Maternal aunt

Poi to
G, et s m

iz,

13.

14,



Dogar’'s Unique 1.Q. Tests with Hints & Explanatory Answers

10

1.

12,

13.

14. Introducing Irfan, Shahla said, “His
brother's father is the only son of my
grandfather.” How Shahla is related to

A's son B Is married with C, whose sister
D is married to E, the brother of B. How D
is related to A7

(A) Father

(B) Daughter-in-lawv

(C) Uncle
(D) Cousin

Pointing to a lady a person sald, “The son
of her only brother is the brother of my
wife." How Is the lady related to the
person?

(A) Sister (B) Niece

(C) Sister of father-in-lawv’

(D) None of these

Pointing to a photograph of a girl Ayesha
sald, "She Is the daughter of the only
daughter of my mother." How |s Ayesha
related to that girl?

(A) Grandmother

(B) Aunt

(C) Nephew

(D) Motherv

Pointing to a photograph, Wa)id sald, “He
s the son of the only daughter of the
father of my brother.” How Wajid is
related to the man In the photograph?

(A) Nephew (B) Mother

(C) Cousin

(D) Maternal uncle?

Pointing to a photograph, Faryal says, “He
js the son of the only son of my
grandfather.” How Is the man in the
photograph related to Faryal?
(A) Brotherv (B) Father
(C) Cousin

(D) Data is inadequate
Amer, introducing a girl in a party, said,
she Is the wife of the grandson of my
mother. How is Amer related to the girl?
(A) Brother (B) Uncle

(C) Husband

(D) Father-in-lawv

15. Pointing to a photograph, a lady tells

John, “I am the only daughter of this lady
and her son is your maternal uncle.” How
is the speaker to John's father?

(A) Sister-in-law (B) Wifev

{C) Neitheranorb

(D) Can't be determined

16. Introducing a man, a woman sald, "His

wife Is the only daughter of my mother.”
How Is the woman related to that man?
(A) Mother (B) Wifer

(C) Mother-in-law

(D) None of these

Direction (Qs. 17-20):

A + B means 'A Is father of B

A — B means 'A is wife of B'

A x B means 'A |s brother of B’
A + B means 'A Is daughter of B

17. P+R+8+Q, which of the following Is trua?

(A) P isdaughterof Q
(8) Qisauntof R

(C) PisauntofQr
(D) R ls motherof Q

18. If P - R + Q, which of the following is

true?
(A) P is mother of Qv

(B) Q is mother of P
(C) P isdaughterof Q
(D) Pissisterof Q

19. P x R + Q, which of the following is true?

(A) PisuncleofR

(B) P is grandfather of Q
(C) P is brother of Q

(D) PissonofQY

20. If PxR-Q, which of the following Is true?

(A) P is brother-in-law of Q¥
(B) Pisbrotherof Q

(C) PisuncleofQ

(D) Pisfatherof Q

Directions: (Q.21-24): Read the following
information to answer the given guestions:

(i) B is the mother of D but D is not daughter of
B

(i) Alsson of M and brother of G.
(i) Glssisterof D.




s NEERE

e Lmigue b
pogar's Unig? Diractions (Q. 25 - 27): Read the i,

information to answer the queslions given, I...-:f,""'

e?
a following js not trd

Which of th usins” ) 'A-B means ‘A is husband of p
= (A) n.ﬁaﬂ‘;si::::q E:i}ﬂ -i - B' means ‘A is daughter o :4
(B) D:s:::mmm (i) ‘A x B'means ‘A is mother of
(o) AlboheroG B et g™ oy
of indicate tha '
(E) Gis the daughfl:; e I (A) Z-YxR (B) ZxR-Yv
z2. Which of e ion given? (€) Z+R (D) ZxRxY
;:T.mgl :as three children (E) one of these
(8) M has two sons 26. If AxDxB-C, then which of the f'-'-'"ﬂWin.g.
(C) A is younger to Dv not true? !
(D) G isyounger to B (A) BissonofD
(E) B has one daughter (B) D is mother-in-law of C
23, Whatis M to B? (C) C is daughter of DY’
(A) Wife (B) Sonv (D) B is husband of C
(C) Father _ (E) Dis daughter of A
(D) Cannot be determined 27. Which of the following would definy
&) bnadt hete indicate that A Is the mother-in-law of ¢
24, Which pf the following is true? (A) D-AxM-C¥ (B) AxMxC
(A) B is mother of M (C) M-C+A (D) C+M-DxA
(8) D is daughter of M (E) Noneof these
(C) Mis husband of B
(D) G has only one brother 28. ﬁ::"ﬂ“? tﬂhﬂ T:EF- i‘i m?}? 53;‘;"’- tl;'lThE 5:5 ¢
on rother is the brother of p
P s orA wife."” H:w is the lady related to the rnan'.lI

(A) Mother's sisterv

(B) Grandmother

(C) Mother-in-law

(D) Sister of father-in-law

| ,9’9’ .@' (Relationship).

» Cause and effect

E""["jm : Fatigue (E)  Maternal aunt
3} French:Athlete (b) Fast Hunger .
(e} Art:Bug (d) Walking : Running %8. Introducing a woman, a man said, 'H

mother's husband's sister |Is my aunt
How is the man related to the woman?
(A)  Nephew (B) Brother

Ans. is (b}, Because fatigue’ Is caused by ‘race’
and "hunger’ Is caused by ‘fast’,

_' > Symbol (C)  Brother-in-law
e.g., Flag : Natlon (D) Cousinv
h.’ P':E;:lef".m,‘ (b)  Elephant ; State (E) Uncle
! HIE:J- (41 Profile  po it 30. P&Q are brothers, R and S are sister
P’s son is g ;
ks o R S's brother, How is Q related!
|  EBE., HEFHIE:SHHH-! [AJ Fﬂthar {H) .Bl'ﬁthﬁr
f:; thHE,:ES."“E (b)  Woman - Gin i) nelsv (D) Grandfather
- Shark Son : Daughter (E) None of these hindd

Ans, s (b),
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Hints & Explanations

1. (d) The boy in the photograph is the on ; \
Al is the father of Boy. [4] e only son of the son of Ali's mather /@, the son of Al Hence,

2. (c) P=M =P isthe brother of M.
M+ N =M is the mother of N
N x Q= N is the sister of Q
Therefore, P is maternal uncle of Q

3. (d) If D is Male, the answer is Nephew. If D is Female, the answer is Niece. As the sex of D is not
known, hence, the relation between U and A cannol be determined

4., (d)MxN =M is the fatherof N
N-C =N is the sisterof C and F + F = F is the brother of F

Hence, M is the father of C or C is the son of M

5 (a) The father of the boy's uncle = the grandfather of the boy and daughter of the grandfather =
sister of father.

6. (c) The man is the only son of the mother of the woman, Hence, the man is the maternal uncle of
the woman. So, the woman is the niece of the man.

7. (c) Fareeha is the daughter of the only son of Ali's grandfather. Hence, it's clear that Fareeha is
the sister of Ali.

8. (b) Since E is the brother of B.
Therefare, A is the father of E,

but D is the wife of E.

Hence, D is the daughter-in-law of A.

9. . (c) Brother of person's wife = brother-in- law of the person. Hence, the son of lady's brother IS
brother-in-law of the person. Therefore, the brother of the lady is the father-in-law of the person.
Hence, the lady is the sister of the persan's father-in-law,

ph is the only daughter of the daughter of Ayesha's mother ie., the

Ayesha is the mother of girl.

ster of Wajid. Hence, Waijid is the maternal uncle of

10. (d) The girl in the photogra
) ~ daughter of Ayesha. Hence,
11. (d) The man in the photo is the son of the si
the man in the photograph. ;
(a) The man in the photograph is _
» son of Faryal's father. Hence, the man is the brother of Faryal,
iy. the grandson of Amer's mother is Amer and wife of Amer's son is daughter-in-law of

rer is falher-in-law of the girl.

s brother is the father of Shahla. Shala's father is the only son of sShahla's
father is Shahla's father. So, Shahla is the sister of Eml'h-
s John's maternal uncle. So, that speaker is John's mother of

mn'én.n of the only son of Faryal's grandfather ie., the man is

¥




—

B i tory Answers
r T with Hints & Explana
Dogars Unigue 1.Q. ests ——

f her mother is woman herself. S0, |
R is the grandfather of Q. Now pP+R means P is daughter of R

e wife of R. So, P is the mother of Q

that woman is the wife of man

—

(b) Clearly, only daughter ©

P+S' means
unt of Q.

o

1
17. (c) ‘S+Q' and P+
clearly means P is 8

(a) P-R+Q represents R is the father of Q, and P is th

brother of R. So, P is son of Q.

11 :.I (d) R Is the daughter of Qand P Isith+|u e
related as brother-in-law (0 .

f-ﬂl {{;}.;'::r;r'r::e available Information clearly indicates tl';at g & B are husband and wife ang tha

they have three children - two suns D & A and one daughter G.

21, (a)Here D, A & G are real brother and sister.

22. (c) There Is no information by which age of A & D can be determined.

23. (b) M Is the husband of B.

24, (c) Except (c) rest all statements are not correct with the given information.

25. (b) Following Information can be derived from ZxR-Y

(Il Zx R-Y means 'S s mother of R’
(i) R =Y means 'R is husband of Y’
So,Risthesonof Z.
26. Following can be derived from AxDxB - C:
(i) A x D means 'A is mother of I
(ify D x B means 'D is mother of B’
(i) B -~ C means ‘B is husband of C'
27. (a) Following information can be derived fromD - A x M - C
(i) D — A means ‘D is husband of A’
(i) A x M means ‘A is mother of M’
(lii) M — C means 'M is husband of C'
So, A Is mother-in-law of C,

28. The son of the lady’s brother |
_ s the brother-in-law of . i
brother is father-in-law of the man and thus, the lady ist';:en;?mn;:';'f:ﬂr?;?fmmﬂhes ?ﬁtarrl'ie -

29, (d) Do yoursef

30. (c) P's son is broth
erof S; R & S are both
one son, sisters, s
So, Q the brother of P, is uncle of R, who h";ah?t:!r:? children /e., two daughters a"
3 s aughter of P.




Direction “lest

twwior, dlismensional p.fmlr To

e chuder deals With the Bnear distarice and
ohe ;Jlgin;h'm based on distance and

(a4 |mrl‘|"'ll'”

NW

' SW
T
2, y

In any right - angled triangle,

1. Amer started walking towards North. After
walking 30 metres, he turned left and
walked 40 metres. He then turned left and
walked 500 metres. He again turned left
and walked 50 metres. How far was he
from the original position?

(A) 50 metres (B) 40 metres
(C) 30 metres

(D} Hone of thesev

2.  Imian goes 30 metres North, then turns
right and walks 40 metres, then again

diection behueen Do points i

lirection, the sense of direction aind sl
i M 2

tums right and walks 20 metres, {h
again turns ﬂwr:nd walks 40, mau-::

ey

= A

snnalaed trigomorielri ul rtios

How many metres is he from his origin

position?
(A) Om (B) 10 mv
(C) 20 m (D) 50 m

A man walks 8 km to the east and the'
turns to the south and walks 5 kms. Agalf
he turns to the east and walks 6 km. Next
he turns northwards and walks 10 k™
How far is he now from his starting poin!’
(B) 11 kms

(D) 15kms

(A) 8kms
(C) 13 kmsv
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A man travels 12 km west, then 3 km
south and 8 km east. How many km is he
from his original position?

(A) 23km (B) 20 km
(C) 15km (D) & kmv

5 Irfan walks 9 kms eastward and then 12
kms southward. How far is he from the
starting point?
(A) 15 kms (B) 6 kms
(C) S Kkms (D) 3 kmsv

g. A girl leaves from her home. She walks 30

metres in north-west direction and then 30
metres In south-west direction. Next she
walks 30 metres in south-east direction.
Finally, she turns towards her home. In
which direction is she moving?
(A) North-eastv (B) South-easl

(C) North-west (D) South-west
A man walks 30 metres towards south.

Then turning to his right, he walks 30
metres. Then, turning to his left, he walks

1.

12,

13.

14.

20 metres. Again, he turns to his left and
walks 30 metres. How far is he from his
initial position?

(A) 30 metres (B) 50 metresv

(C) BOmetres (D) B0 metres

Facing towards the south, Tariq started
walking and turned left after walking 30
metres. He then walked 25 metres and
turned left and moved a distance of 30
metres. How far is he from his starting
position and in which direction?

(A) Atthe starting point

(B) 25 metres West

(C) 25 metres WestY’

(D) 30 metres East

Ahad went 15 kms to the west from my
house, then turned left and walked 20
"~ kms. He then turned east and walked 25
and finally turning left covered 20
’fMurm he from his house?

) Skms (B) 10 kmsY

ms (D) 80kms

Is 2 km towards west and

1. , he goes

9.

15.

16.

17.

18.

A man goes § kms lowards east
Thereafter, he turns south-west and goos
& kms, then he again turns narthowest and
goes 6 kms. In which direction is he from
the starting point?

(A) Original place (B)
(C) Easl (L1}

Four players A, B, C and D are playing
cards. A is on the right of B and D s on
the left of C. Then which of the following
pair is partner?

(A) AandB (B) DandC

() Band DY (D) A and [

‘A’ travelled westward § kms, turned left
and travelled 3 kms then turned right and
travelled 9 kms. He then travelled north 3
kms. How far was ‘A’ from the starting

Waoant s
Mo -nas

point?
(A) 3 kms (B) 5 kms
(C) 10kms (D) 14 kms¥

Facing east, Fahad turned to his left and
walked 10 metres, then turned 1o his left
and walked 10 metres and then turned 45°
right and went straight 26 metres. Now, in
which direction, Fahad is from the starting
point?

(A) Sourth-west (B) South-easl

(C) North-westv (D) North-east

If A is to the south of B and C is to the
east of B, in what direction is A in respect
to C?

(A) North-east (B) Morth-west

(C) South-east (D) Souht-westy

A man walks 10 kms towards north, Then
he walks 6 kms towards south. Then he
walks 3 kms towards east. How far and in
which direction is he with reference to his
starting point?

(A) 7kmseast (B) 5kms west

(C) 5 kms north-easty’

(D) 7 Kms west

One fine morning, A and B were standing
in a lawn with their backs towards each
other. As shadow fell exactly towards left
hand side. Which direction was B facing?
(A) East (B) West

(C) North (D) South¥

B is to south-west of A, C Is to the east of
B and south-east of A and D s to north of
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26. A man travels

G in line with BA. In which direction il and goes 3 km, turns right 32'1 goes 1 i,
is D located? h-aast Egﬂln turns rlght and gﬂ‘E“ 3 km. Hﬂ'w' fir
(A) North-east</ (B) SoUh-® is he from the starting point
(C} East (D) North (A) 7km (B) 6km
48, The time on the watch is quartarhtnathtrﬂrr; (C) 5 kmv (D) 4km
If the minute-hand points to n;:n:p:j;-.t? 26. A and B start walking in Opposj,
directions. A covers 3 km and B CoVery

ction does the hour "
(B) South-west km. Then A turns right and walks 4

while B turns left and walks 3 km. How r,

which dire
{(A) South-east

(C) North-west (D) Norh-east
20. A person walks 20 metres north. Then he is each from the starting point?
turns right and walks 30 metres. Now he (A) &kmY (B) 4 km
turns right and walks 35 metres. iNo;.:v, (©) 10km (D) 8 km
415 metres. Again, ne
turning left, he walks g Kamran walks 10 m south from his hous,

turns left and moves 15 metres. Finally, {27. _
turning left, he again walks 15 metres. In turns left and walks 25 m, again turns jg|
and walks 40 m, then turns right ap

which direction and how many metres is
he from his original position? walks 5 m to reach to the school. In whig
(A} 15mEast (B) 45m Easty’ direction the school is from his hosue?
(C) 15mWesl (D) 45m Wast (A) South-west (B) Morth-eastv

(C) East (D) Morth

24. In a class of 35 students, Mahad is placed
7% from the bottom whereas Fahad Is|28. ‘A’ is east of '‘B' and west of ‘C’, 'H |
placed 9" from the top. Ahad is placed south-west of ‘C' and 'B’ is south-east ¢
‘X', who is the farthest west?

exactly in between the two. What is
Mahad's position from Ahad? (A C {B) A
(&) 10v (8 11 (C) X (D) BY

(C) 13 (D) 12

22. At my house | am facing east, then | turn | Directions (Qs. 28-33): These questions an

left and go 10 m, then turn right and go 5 |based on the diagram given below showing fou
m, and then | go 5 m towards the south | persons siationed at the four corners of a squan

and from there 5 m towards the west, In | piece of plot as shown:

which direction am | from my house? G
(A) East (B) West I -
{C) Northv (D) South
23, My friend and | started walking N
I g

simultaneously towards each oth
. er from
two places 100 m apart. After walking 30

m, my friend turns left and goes 10 m,
W

then he turns ri
thon tur tght again and cem s fmci g >
:Pi;o:: ;:':n ‘:ti:licg he had started walking. 29. A starts crossing the plot diagonally. Afte
the distance hem:._-:ame speed, what is Walking half the distance, he tum: “right
e d us at this point of ;‘;:'Bgiﬂﬂm* distance and turns left. Whic!
%) 50m  (B) 20my By Mot oW
s orth-east (B) N
m ) 40m (6] Northests’ ot
“west (D) South-eas!

24. A walch reads 4.3
sl 30 O'clock. If 3. F
hand points ; - If minute fom the original po :
ction 1 lowards the east, in whic h above figure .ulﬁ' Iand sginmn-uﬂi:e:n;n amml

*ction does the hour ha
A) ._ nd point? length ¢l
{“G; 'mw' e ﬁ{g: mﬂm the ﬂufﬂl;.rcwma ma"?, E;,E:o:il';!‘lscwe; I}’
B il Cross over th . Shath anti-clochwise,
corner diagonally oppositt
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31.

32.

33.

35.

last letter at Aziz Mansion. He then moved

The original configuration ADBC has now

changed to:
(A) CBDAv (B) DACE

From the original Position, B and D move

one and a half length of sj
: : sides clockwi
and anti-clockwise respectively. Whilzg
ng statements is true?

(A) B and D are both i
Betimen A L at the midpoint

(B) B :js aé!he midpoint between A and C
an I5 at the co igi '
osciipied by A mer originally

{(C) Dis at I.hre midpoint between A and C
and B is at the comer originally

occupied by C

B and D are bolh at
between A and D

(D)

the midpoint

From the positions in the original figure, C
and A move diagonally to opposite
corners and then one side each clockwise
and anti-clockwise, respectively. B and D
move two sides each clockwise and anti-
clockwise, respectively. Where is A now?
(A) At the north-west corner

(B) At the south-east comer

(C) Atthe north-east comer

(D} Atthe south-west cornerv

After the movements given in the above
question, who is the north-west corner?
(A) A (B) C¥

(C) B (D) D

Two buses start from the opposite point
of a main road, 150 km apart. The first bus
runs for 25 km, takes a right turn and then
runs for 15 km. It then turns left, runs _fnr
another 25 km and takes the direction
back to reach the main road. In the
meantime, due fo a minor breakdown, the
other bus has run only 35 km along the
main road. What would be the distance
between the two buses at this point?

(A) 65 kmv (B) 80cm

(C) 75 km (D) 85cm

A postman was returning to the post
o‘l‘ﬂI:: which was in front of him to the
north. When the post office was 100
metres away from him, he turned to the
left and moved 50 metres to deliver the

3B.

37.

38,

y . .

38.

in the same direction for 40 metres, turned
to his right and moved 100 metres. How
many metres away he was now from the

post office?
(A) 0 (B) 150
(C) 80v (D) 100

John went 15 km to the west from my
house, then turned left and walked 20 km.
He then turned east and walked 25 km and
finally turning left covered 20 km. How far
was he from my house?

(A 5km {B) 10 kmv

(C) 40 km (D) 80 km

From a point, Asif started walking towards
east and walked 35 m. He then turned
towards his right and walked 20 m and he
again turned right and walked 35 m.
Finally, he turned to his left and walked 20
m and reached his destination. Now, how
far is he from his starting point?

(A) 55m (B) 50m
(C) 20m (D) 40 mv
A directional post is erected on a

crossing. In an accident, it was turned in
such a way that the arrow which was first
showing east is now showing south. A
passerby went in a wrong direction
thinking it is west. In which direction is he
actually travelling now?

(A) North (B) Southv

(C) East (D) West

Jawad walks 10 m south from his house,
turns left and walks 23 m, again turns left
and walks 40 m, then turns right and
walks 5 m to reach his school. In which
direction is school from his house?

(A) Easl (B) Morth-east
(C) South-west (D) Nerth
| am facing west | turn 45° in the

clockwise direction and then 180 in the
same direction and then 270 anti-
clockwise. Which direction am | facing
now?

(A) South-westv

(B) South

(C) West

(D) North-west
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Pints & Solutions

ke
movements are shown (1 e B ' 7
1 o fure. Figure A s the starting point 2 =/ ¥
E is the lerminating point, Here. - E;’ Wt
G 0w . N i 8
w—i—ﬂ c e D
30m - The man is 5 km away from e
B pﬁ' position. .
g,. :-,_‘ 5 (d) The movements of Mr Irfan are shown
' A the adjacent figure. O is the staring ger
Py ¥
I}-—--Li
ol -
b0 ] W D'ﬁ-@ Ly
FE=DE -DF=50-40=10m . fizss
AF =BF ~AB =500 - 30 = 470 m
- AE = (470 + 10°) = 470.11 m B0 ad
2. (b) Imran's movements are shown in the - 00 =V(OP? + PO = (9 + 127
= V(225) = 15 km

m figure, A is the starting point. Here,
PD=BE=20m 6. (a) Movements of the gifl are shews in e

N adjacent figure. A is the starting poir? Firal
o - F-

- me_m.ﬁnb@mg towards A So. she s

¥ E‘,}IE dmmnnn_ , .medmuhan DA, ie., in Nortr.ese
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B loure Al movements are shown in the| 12 (c) The pasitions of the four players is shown
figuie. A s the siarin i ' i sdaghe
distance lrom A ig: 9 point. Here, Tariq's in the figure. So, Blﬂﬁ D are printer
D N _
W —.\ftﬂht
W n o
- b mﬂk
AD = BC =25 m. Also D is in east of A,
5¢,1faﬂq I8 25 m to the east of starting point. C
@ (b) The movements of Ahad are shown in the ' :
figure, Here, A is the starting point. Ahad's 13. (d) A's movements are shuwnﬁh;:m figure
distance from E. Pl B Avem A
A li:u ______ p N N
B W—-'—E 3 km 3km w E
A o 5
o 2 9 km
' 25 ke D Here, BE = CD = 8 kms
= AE = BE ~ AB = (25 - 15) = 10 km Also, AE = AB + BE = (5 + 9) = 14 kms.
10. (d) Man's movemenis are shown in the|14, (c) Fahad's movements are shown in the
figure. A is the starling point and D is the figure,
terminating point
Here, CD = BE = 8 kms D\ézam
N
45° 10 m
12km E “'j—E il B
B — L fﬁl \‘
! 7 5 l
E .‘1-"I '.I.U m “\~ 1“‘ m
Sllﬂ : f' .
H ," _______ “A
A
-1 3 As the starting and D the terminating point
R £ So finally Fahad is in AD direction, i.e., in the
DE = BC = 3 kms north-west direction.
AE = AB - BE = 12 -8 =4 kms 15. (d) The positions of A, B and C are shown in
% AD = (AE" + DE") = V(16 + 9) the figure. Clearly, the direction of A in
=5 kms respect of C is South-west, '
11. (b) The movements of the man are shown In o
~ the figure. A Is the starting e
B A . Bkm
m—p— W v
S
17. (d) Because A's shadow 1€
| hand side, so A must be facing




sition of Ahad from the top = g"
: : ns=29-9=20
SR dontg 10
i —r!'ﬁ“ ]’Ihﬂd :kzg- =]

pogar's Uniqye Q. 183
23. (b}
< of A, B, Cand DS ShOW e
18, E:i The %&- ol g north-east of o 1 qu.mu--ﬂ—-'—-ﬂ
A n Lo— ; 2 30 B
> A a—B60m—=110
H! N M.'!" gl:l]f "’{__‘__Tlﬂ MF &i‘“ﬂ
A‘d‘ Eﬂ
P w—Jg—E when my fiend reeches on the previo,,
o \ wrack (i@, on B) again, he had travelieg ,
Bl m e i distance of (30 + 10+ W;d"m ""“":5 m. Ag|
 (b) At quarter o Ihree, the hands of the watch walk with the same 8p as that of
" uihgwn lrI:r the figure. Thus, if the minute iriend | have walked 70 m, but on the m:;{
hand points o north-east, the hour hand will irack. Now, he Is Just [100 = (30 + 20] = 50,
Hence, the distance between us = (70 - 5p)
=20m
24 (a) Clearly the direction of the hour's hang |
North-aast.
.20, (b) Person's movements are shown in the g
figure, A is the slarting point and F is the
mnﬂna-puinl Here, AF = AT+ TF =30 +
f§=;§- m. Also, F lies to the east of A. So|25. (c) 2
man |s 45 metres to the east from his initial 1
posifion. s —— N
o— 22 y 4l P
id “'_IL_I 1I .--""5 w E
20 "—-——l——"‘-
_ 4 m 8
| R . Heﬂllzifﬂd distance
n:u}u 11,_51 N L e =4 +32 =& =5km
i ...-'...-r : : ." lahad : 'm-ﬂ!&-hp.t [35 +71 » Listhe SIarﬁng pﬂfm
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28 (d)
x\ 32. (d)
G - ®
B—— A __ //C. ® R A
H i
NW o NI
w
E o=
8 o © é
3 33. (b) From the ab dia
B Is the farthest west, Lgnh-wnt ::-I:I?rrll:wr.':‘Wl IS e M0
28, (c) A's final position 34, (a)
C A o150 Kk~
/ A _— 16km,, g
N ~ Z5km
o 8 16km 16km
25km
Distance travelled by bus A = 50 km and B =
B D 35 km
30. (a) ., Distance between the two buses left
=150 -35-50 =65 km
C,B ADC, 35. (o)
' Dy 8 . | Post Office
i =
== 100m 0 m
. Cy 11
BCD, DAB, TR YRS Postman
Hence, final configuration of ADBC has now A% ; :
. ziz Mansion
CBDA.

AB,C, and D, are original position of A, B, E:t
& D A;B,C, and D; are position after 1
movement of A, B, C and D. A;, By, Cs and

I'=]

From the diagram, E is the final point where
postman has reached. Hence his distance
from the post office = 40 + 50 = 90 m.
(b)




Tasts Willl FI = _\‘
pogar's Unique $-Q:
38 fh} Gm :
km = 25 - 15 = 10 kim
x - o
37, (d) . . |
__EE.L_' ]IHIIBB ,”}m I'.E
aom 20m Wl
10 m !
230m
40m 36m Hence, the school of Jawad is o the o
easl from his hnuge. |
40. (a) 45° + 180° = 225° clockwise ._-j,,e%
Z0m ' 270" anti-cluckwi;e direction
bove diagram, _ 595e 2700 5= <
52:;: é?;:nc:e from the starting point W
=20m+20m=40m. :me“
38. (b) ey
N(E) :
i =6 " .
. nd
q’f
S(W) le., 45° anti-clockwise from initial posilion

When the arrow tums
north becomes easl,
and south becomes we
So, the traveller mu
the south IhInkiﬂgj

» Bast becomes south,
wesl becomes norh
st,

st be actually travelling in
s west,

Hence, the required direction is south-west

AR

s of the Digg: 1n the foriow

It, are to have the same re
}MHG:IH::?:ZEE
(al 63702
fc] 41468

B question th

lationship, Tick mark correct choic

€ twWo numbers given before:: and the two after

(b)
(d)

82944
44928




Fnalytical

Reasoritig

(B) F finishes sacond

. 4 the following
ﬁ:ﬂ?ig: EEI{E'IUH';" and answer the queslions ih

follow: c D EandF are malftching In

El
Six bﬂ-}fE s Eﬂ'ranﬂEd according to their

line. They are
:Eight the tallest being at the back and the

shortest in front,

E is between B and A.
E is shorter than D but taller than C who 15

taller than A.
E and F have two boys between them
A is not the shortest among them

1. Whereis E?
(A) Between Aand B

(B) Between C and A
{C) BetweenDand C+
(D) Infrontof C

2. Who is the tallest?
() B (8) D+ |
- ©F (D) A i
3. If we start counting from the shortest |
which boy is fourth one in the line? I l
(A) E (B) A
(€} D (D) Cv
4. Who is the shortest?
(A) C (B) D
(€) Bv (D) F

N8 (Q. 5-8): Study the folow
graph and then answer (he quasﬂohl:Tr?agt

1 E F and G play a series of

8. Which

~'awing are always true of
.%ﬂﬂﬁ_ﬁ is the 1" or ¢

finishes ahead of £ |

(c) E finishes ahead of F

(D) F finishes ahead of D

if D finishes third, then which of the
following must be true?

(A) G finishes first

(B) E finishes ahead of F

(C) F finishes ahead of EY

(D) F finishes behind D

If C finishes first, then in how many
different orders is it possible for the other
golfers to finish?
(A) 1

(C) 3¢

(B) 2
(D) 4
of the following additional
conditions make it certain that F finishes

second?
{A) C finishes ahead of D

(B) D finishes ahead of F
(C) Ffinishes ahead of Dv
(D) D finishes behind G

| Directions (Q. 9-12): Read the following

| Infarmatio 5
follows: on carefully to answer the questions that

There are six leachers A, B, C.D.EandF Jrl_l

8 school. Each of the leachers teaches two

subjects, ona compuisory subject ang the other

optional. D's opty ' '
itp onal subject is History while three |




[’uﬂ.f'. uﬂ'fqu. l-n

Te
. _--—m I SIS with Mints & Explanatory Answers
(A) A (&) F:I"I' In the uroup? e
e) G {DI D ractiona (Q. 134 5): _R-;Elﬂ the fallowing

statements 1o answer the questions that follow

(1. Who among the ' a
optional  subjocts hl-':mﬁ has  same nmmuh;neﬁ:rlcket ekt dsmaned Koyl
compulsory subject of ¢ At of thelo p L e b 21 B M M,

? P, Q and R. L is at the right of M and at third

(A) D B) B place 1o the 1 ~
h
(c) A D) ¢~ Qis immaﬂiu:gI; i:ii:g:rt:ie S“; :: ::: ::::‘.5
12. Disregarding which s compuls place to the lefl of K. J is right nax! lo left of O
which !l' the optional subject, wh:g:;‘: 13, Who is sitting in the centre of the row?
ettt IR
(C) E¥ (D) I 1 A
) B 4. Who is at the other end of the row?
(A) R B J
C) P (D) N¢
15. Which of the following statements is true?
(A) R and P are neighbours
(B) There is one person between L and
ov
(C) Mis al one extreme end
(D) N is two seats away from J
Hints & Solutions
| 1. (c) Cleary, form the following diagram, E Is CFDEG, CDEFG and COFEG
between D and C 8. (c) When F finishes ahead of D, then F will
definitely finish at the second place.
g (a) History is the compulsory subject of C.
i I 1 1 Shortest 10. (d) D is a female member in the group.
Tallest ECAFB it 11, (d) The compulsory subject of F
DEGC (Mathematics) is the optional subject of C.
2. (b) Dis the tallest , 12 (© E has Physics and Mathematics as his
3 (d) Counting from the shoriest, C is the fou two subjects.
in the line. .
(c) Clearly, from the above diagram B 15 the! cor Q. No. 1315
~shorlest. The following ordered arrangement of the
(8) Either C or G has to be firstand D 35 10| cicket fans is derived from the given :
‘come before E. Hence. E canno 13. (c) Clearly, J, is sitting in the middle.
: 4 (d}mnnaend,wahh#eﬁaﬂﬂa!mm
e ‘when D finishes third. | 14
P inishes Mwﬁ refore ﬂpﬂﬂn Endi we have N
ishy w . ' 15. (b) Only statement (b) is frue.

_pina first, G finishes
 following three
- |




